KANGOUROU MATHEMATICS COMPETITION 2021: LEVEL 1-2 / ENIMEAO 1-2 (A’-B° AHMOTIKOY)

1. A kangaroo laid out 3 sticks like this to make a shape. Which shape could the kangaroo make?
‘Eva kaykoupo xpnotpomnoinoe 3 paBsoug yla va dtiaget va oxnua. Moo oxnpa Ba pnopolos va KAVEL TO
KOYKOUpO;
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2. The picture shows 2 mushrooms. What is the difference between their heights?

H ewkdva Seiyvel 2 pavitdpla
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3. Which path is the longest?
Mota Stadpopn eival n peyodltepn;

(A)

(D)

(B)

(E)
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(D) 11

. Nota givat n Stadopd petalt tou LPOUG TWV 2 LOVLTAPLWY;

(E) 17

(€)
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4. Four identical pieces of paper are placed as shown. Michael wants to punch a hole that goes through all four
pieces. At which point should Michael punch the hole?

Téooepa 0AOLSLA XaPTLA ToToBOeToUVTAL OTIWE PALVETAL OTO TILO KATW oXNua. O MixdAng B£AeL va TpUTTHOEL La
TPUTIQL TIOU TIEPVAEL KAL TO TECOEPA KOUUATLA. Y€ TTOLo onpelo Oa mipémnel o MixaAng va BydAeL tnv Tpuna;

(A) A (B)B (c)c (D)D (E)E

5. Ella puts on this t-shirt and stands in front of a mirror. Which of these images does she see in the mirror?
HEAeva popdel auTo To UIMAOUTAKL KL OTEKETAL UITPOOTA Ao évayv KaBpédtn. Molav amd AUTEC TLG ELKOVES
BA£meL otov K0OpEdTn;
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6. Tower A is taller than Tower B but shorter than Tower T. Tower S is taller than Tower T. Which tower is the
tallest?

(A) A (B) B T (D)S (E) Can't decide.

O Nupyog A eivat YnAdtepoc amo tov Mupyo B aAAd pikpotepog amd tov Nupyo I. O Nupyog I eivat PnAotepog anod
tov Mupyo I. Motog mupyog ivat o PnAdtepog;

(A) A (B)B or (D)2 (E) Aev pmopw va anodaciow.
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7. These children are standing in a line. Some are facing forwards and others are facing backwards.

How many children are holding another child's hand with their right hand?

AuTad Ta AL oTEKOVTAL OE [La Ypapun. Oplopéva BAETOUV IPOG T EUMPOC Kal GAAa BAEMOUV TIpOG Ta THoW.
Néoa maldLd kpatTouv To XEPL vog dAAoU matdtou pe to Se€l Toug XEpL;

(A) 2 (B) 3 (C) 4 (D)5 (E)6

8. In the Kangaroo constellation, all stars have a number greater than 3 and their sum is 21.

Which is the Kangaroo constellation?

JTov aoteplopo Kaykoupd, oAa ta aotépla £xouv aplBud peyaAltepo amo 3 kol to dBpolopd toug sival 21.
Molog elval o aoTePLOPOG Kaykoupo;

A
A

9. Edmund cut a ribbon as shown in the picture. How many pieces of the ribbon did he end up with?
O Awilog €koe pia kopSEAa OTIWG DALVETAL OTNV EIKOVA. Z€ TTOC KOUUATLO EKOYE TNV KOPOEAQ;

?f

(A)9 . (8)10 () 11 (D) 12 (E) 13
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10. Rose the cat walks along the wall. She starts at point B and follows the direction of the arrows shown in the
picture. The cat walks a total of 20 metres. Where does she end up?

H Pooul (n ydta) mepmatdel KATA PNKOG TOU TOlXou. ZeKLVA amo To onpeio B kal akoAouBel thv katelBuvon tTwv
BeAwv mou daivovtat otnv elkdva. H ydata epratd cuvoAikd 20 pétpa. Mol KataAnyel;

(A) A (B) B (C) C (D) D (E) E

11. Julia has two pots with flowers as shown. She keeps the flowers exactly where they are. She buys more
flowers so that each pot will have the same number of each type of flower. What is the smallest number of
flowers she needs to buy?

H TZoUALa €xeL SU0 YAAOTPeC pe AouAoUdLa Owe daivetal o katw. Adrvel ta AouAoUSLa akpLBwWS OToU
Bpiokovtal. Ayopalel meplocotepa Aouloudla £ToL wote kKABe yAdotpa va €xeL Tov (610 aplBuod amod kabe sidog
AouAoubioU. Molog eival o PKpOTEPOC aplBOG AOUAOUSLWY TTOU XPELATETAL VA QyOPAOEL;

(A) 2 (B) 4 (C)e (D) 8 (E) 10

12. Tom encodes words using the board shown.

O Top kKwbikoToLlel AEEELG XPNOLUOTIOLWVTOC TOV TtivaKo TIou GaiVETOL TILO KATW.
A B C D

I|B|K|Z]|E
2IP|A|F|H
3| SIM[R|W
4 IT(N|T|L

For example, the word PIZZA has the code A2\, A4\, C1\, C1\, B2.
Mo mapadeypa, n AéEn PIZZA éxeL tov kwbko A2\, A4\, C1\, C1\, B2.

What word did Tom encode as B3\, B2\, C4\,D2?
Mot Aé€n kwbikomoinoe o Tou pe tov kwdikdé B3\, B2\, C4\, D2 ;

(A) MAZE (B) MASK (C) MILK (D) MATE (E) MATH
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13. Which figure can be made of these two pieces?
Molo oo UTTopEL va KATAOKEVOOTEL Ao auTd Ta U0 KOUUATLO;
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14. Julie and Angela played basketball. Each goal scores 2 points. Julie scored 5 goals and Angela scored 9 goals.
How many more points than Julie did Angela get?

H T{oUAN kat n Ayyéha énaifav Unmaoket. Kabe ykoA .ooUtal pe 2 mévtoug. H T{oUAN onueiwoe 5 ykoA kal n Ayyéla
onpeiwoe 9 ykoA. MNdooug neplocdTEPOUS MOVTOUC armo tn T{oUAN mirpe n Ayyéla;

(A) 4 (B) 6 (C) 8 (D) 10 (E) 12

15. The picture shows the five houses of five friends and their school.

To go to school, Doris and Ali walk past Leo's house. Eva walks past Chole's house. Which is Eva's house?

H ewdva Selyvel mévte omnitia névie diAwv Kot To oxoAeilo Tout. MNa va mave oto oxoAeio, n Awpa kot n AAikn
Tiepvouv amnod to omnitt tou Aswvida. H Eba mepvael anod to omitt tng XAong. Moo eivat To omitt tng Evag;

-
e M
(A) m (B) ﬁ (C) m (D) ﬁ (E) m

16. The kangaroo had two branches for lunch. Each branch had 10 leaves. The kangaroo ate some leaves from one
branch. Then, from the second branch, it ate as many leaves as were left on the first branch. How many leaves were
left on the two branches altogether?

To kaykoupo eixe U0 KAaSLA yla peonpeplavo yeupa. Kabe kAabi ixe 10 pUMa. To kaykoupod édaye HeEPLKA
UM amnod to éva kKAadi. ITn cuveéxela, amo to deuTtepo KAadL, £dpaye Tooa UAAL O6oa EUElvay oTo MPWTo KAASL.
MNooa pUAa €pelvay ocuvoAlkad ota SUo KAadLa;

(A)5 (B)6 (c)8 (D) 10 (E) 15
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17. Mara built the square by using four of the following five shapes. Which shape was not used?
H Mdpa £€0tnoe auTo TO TETPAYWVO XPNOLLOTIOLWVTAG TECCEPQ Ao Ta akOAouBa mévte oxrpata. Molo oxAua

Sev xpnoluomnolnonke;
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18. Every time the witch has 3 apples she turns them in to 1 banana. Every time she has 3 bananas she turns

them in to 1 apple.

KaBe popd mou n paylooa £xeL 3 unAa ta petotpenel o 1 pmavava. Kabe dpopd mou €xel 3 UMOVAVES TLG

petatpémnel o 1 unio.

090

)-@

What will she end up with if she starts with 4 apples and 5 bananas?

Me tL Ba kataAn€et av Eekvnoet pe 4 PAAa KAl 5 Pmavavec;

.0 . J )

(D)




KANGOUROU MATHEMATICS COMPETITION 2021: LEVEL 1-2 / ENIMEAO 1-2 (A’-B° AHMOTIKOY)

19. The cards shown are placed into two boxes.
OL kapteg mou ¢aivovtal o Katw tonobetouvtal oe U0 KOUTLA.

The sums of the numbers in each box are the same. Which card number must be in the box with the card number 4?
To aBpolopa twv aplBuwyv o kAbe koutl eival To (610. Nolog aplOUOC KAPTAC TTPETEL VA UTIAPXEL OTO KOUTL E TNV KAPTA
UE aplOuo 4;

(A) only 3 (B) only 5 (C)only 6 (D)only50r6 (E) impossible to determine
(A)pévoto3 (B)uovoto5 (C)pévoto6 (D)pdévoto51nTto6 (E) adUvartov va to Bpw

20. The picture shows two cogs, each with a black tooth.
H ewkova Seiyvel Vo ypavalla, to kabéva pe éva povpo SOvTL.

£°3

Where will the black teeth end up after the small cog has made a full turn?
Mo Ba kataAnéel To pavpo 8ovtl, dtav to pKpd ypavall Ba £xeL KAveL TARpN otpodn);

(A) (B) (€) (D) (E)

21. Three girls and two boys were dancing. They dance in pairs so that each girl danced with each boy for exactly a
minute. There was always only one pair at a time on the dancefloor. For how many minutes did they dance?

Tpla kopitola kat SUo ayopla xopeuav. XopeUouv oe {euydpla £T0L WOTE KABE KopIToL va XopeUEeL e KABE ayoptl
yla éva Aemto akplBwe. Yripxe mavta povo éva euyapl kaBe dopad otn miota. MNa moéoca AemTd xopevay;

(A) 5 (B) 6 (C) 8 (D) 9 (E) 10
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22. Each participant in a cooking contest baked one tray of cookies like the one shown.
KaBe ouppetéxovrag os €va SLaywVLOUO LAYELPLKAG EPnoe Eva S10KO e UIMLOKOTO OTIWE OLUTOV Ttou dalvetal
TILO KATW.
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At least how many trays of cookies were needed to make the following plate?
Touldylotov tdéoouc §10KOUG e UILOKOTA XPELAOTNKAY YLa va GTLAEOUV TO TTAPAKATW TILATO;

—

<>

(A)1 (B) 2 (€)3 (D) 4 (E)5

23. Kostas eats only fruits. He eats apples on Mondays, Wednesdays and Fridays, he eats mangoes on Tuesdays
and Thursdays. He eats either 2 apples or 3 mangoes a day. On Saturdays and Sundays he eats nothing. How
many pieces of fruit does Kostas eat in two weeks?

O Kwotog tpwet povo ¢poulta. Tn Asutépa, Tetaptn Kot Mapaokeur TpweL KA, TPWEL LAvyKo K&Be Tpitn Kot
Méumtn. Tpwel eite 2 pRAa gite 3 pavyko tnv nuépa. Ta ZapPata kat Tig Kuplakég Sev TpweL Timota.

Néoca ppouta tpwet o Kwotag os V0 eBSouddec;

(A) 12 (B) 16 (C) 18 (D) 20 (E) 24

24. Peter has five toys: a ball, a set of blocks, a game, a puzzle and a car. He puts each toy on a different shelf of
the bookcase. The ball is higher than the blocks and lower than the car. The game is directly above the ball.

On which shelf the puzzle cannot be placed?

O Meétpog €xet mMévte ayvidia: pLo pmala, €vo 6T KUBwWV, €va NAekTpovIKO Ttatyvidt, éva mall kol éva
outokivnto. Balel kaBe maiyvidt oe Stadopetikd padt tng BLBAL0ONAKNG. H praAa eivat o PnAd amd toug
KUBOUC KaL TILo XaPNAQ armo To autokivnTo. To NAEKTPOVLKO TatyVvibL BplokeTal akpLPWE MAVW Ao TNV UIMAAd.
Ye molo padt Sev pnopel va tomoBetnOel to malA;

Shelf 5
Shelf 4
Shelf 3
Shelf 2
Shelf 1

(A)1 (B) 2 (C)3 (D)4 (E)5



